
Making Change (A)

Calculate how much change is required for each transaction.

Cost of Items Amount Paid Change Required

1. $31.28

$100.00

2. $54.52

$100.00

3. $65.26

$100.00

4. $95.37

$100.00

5. $23.23

$100.00
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Making Change (A) Answers

Calculate how much change is required for each transaction.

Cost of Items Amount Paid Change Required

1. $31.28

$100.00

$68.72

2. $54.52

$100.00

$45.48

3. $65.26

$100.00

$34.74

4. $95.37

$100.00

$4.63

5. $23.23

$100.00

$76.77

Public Domain Images from Wikipedia.

Math-Drills.com


